Tabulation of Bids Page 1 of 4

Maine Department of Transportation **SOUTHERN REGION 1** Contract ID: 025744.01 Counties:

A True Copy:_____ **Letting Date:** March 27, 2019 District(s): SOUTHERN REGION

Call Order: Project(s): Title : _____

Contract Time: 12/31/20 COMPLETION DATE

Attest: ____ Notary Public Contract Description: REGION 1 TRACK EXCAVATORS

								•	
	o / Item ID escription			(1) MILTON	I CAT	(2) NORTHLA	ND JCB	(3) EAGLE	RENTAL
	/ Alt Member	Quantity a	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	01 REGION	N 1 TRACK EXC	CAVATORS	Cat Alt Set:	Cat Alt Member:	LCC:			
0010	631.60	12.000	12.000	3,690.00000	44,280.00	3,800.00000	45,600.00	4,200.00000	50,400.00
EXCAVA [*]	5,000 - 36,000) CM	СМ						
0020	631.60	12.000	12.000	3,690.00000	44,280.00	3,800.00000	45,600.00	4,200.00000	50,400.00
EXCAVA [*]	ENT RENTAL (BY MONTH FOR #1-2 5,000 - 36,000 1) CM	СМ						
	Section Totals:				\$88,560.00		\$91,200.00		\$100,800.00
	Life Cycle Costs:								
Secti	on Total with LCC:				\$88.560.00		\$91,200.00		\$100,800.00

Maine Department of Transportation **SOUTHERN REGION 1** Contract ID: 025744.01 Counties:

A True Copy:_____ **Letting Date:** March 27, 2019 District(s): SOUTHERN REGION

Call Order: Project(s):

Contract Time: 12/31/20 COMPLETION DATE

Attest: _____ Contract Description: REGION 1 TRACK EXCAVATORS Notary Public

	a.o. 2 000po.	II. KEOIOIVI III	.,					Notary Public	
Line No / Item ID Item Description				(1) MILTON CAT		(2) NORTHLAND JCB		(3) EAGLE RENTAL	
Alt Set / Alt Member		Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	12	REGION 1 TRACK EX	XCAVATORS	Cat Alt Set:	Cat Alt Member:	LCC:			
0030	910.30	4.00	0 4.000	500.00000	2,000.00	250.00000	1,000.00	270.00000	1,080.00
DELIVER EXCAVAT REG 1	TOR 25,000 - 36,0 T, PER YR FOR	Ε <i>/</i>	A EA						
0040	910.30	4.00	0 4.000	500.00000	2,000.00	250.00000	1,000.00	270.00000	1,080.00
EXCAVAT	WORK TRANS - I FOR 25,000 - 36,0 T, PER YR FOR F	00	A EA						
	Section Totals	s:		•	\$4,000.00	•	\$2,000.00	•	\$2,160.00
	Life Cycle Costs	s:							
Section	on Total with LCC	> :			\$4,000.00		\$2,000.00		\$2,160.00
	Co	ntract Item Totals	6		\$92,560.00		\$93,200.00		\$102,960.00
Contract Time Totals									
Contract Life Cycle Costs Totals					\$0.00		\$0.00		\$0.00
Contract Grand Totals					\$92,560.00		\$93,200.00		102,960.00

() indicates item is bid as Lump Sum

SOUTHERN REGION 1 Counties:

A True Copy:_____ **Letting Date:** March 27, 2019 District(s): SOUTHERN REGION

Call Order: Project(s): Title : _____

Contract Time: 12/31/20 COMPLETION DATE

025744.01

Contract ID:

Attest: ____ Notary Public Contract Description: REGION 1 TRACK EXCAVATORS

Maine Department of Transportation

Line No / Item ID Item Description			(4) BEAUREGARD EG	QUIPMENT, INC.	(5) CHADWICK	BAROSS		
Alt Set / Alt Member	Quantity a	nd Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 01 R	EGION 1 TRACK EXCA	AVATORS	Cat Alt Set:	Cat Alt Member:	LCC:			
0010 631.60	12.000	12.000	4,200.00000	50,400.00	4,350.00000	52,200.00		
EQUIPMENT RENTAL (BY MO EXCAVATOR #1-1 TRACK 25,000 - 36,000 REGION 1	ONTH) CM	СМ						
0020 631.60	12.000	12.000	4,200.00000	50,400.00	4,350.00000	52,200.00		
EQUIPMENT RENTAL (BY MO EXCAVATOR #1-2 TRACK 25,000 - 36,000 REGION 1	ONTH) CM	CM						
Section Totals:		'		\$100,800.00		\$104,400.00		
Life Cycle Costs:								
Section Total with LCC:				\$100,800.00		\$104,400.00		

Maine Department of Transportation **SOUTHERN REGION 1** Contract ID: 025744.01 Counties: A True Copy:_____ March 27, 2019 **Letting Date:** District(s): SOUTHERN REGION

Call Order: Project(s): Title : _____

Contract Time: 12/31/20 COMPLETION DATE

Attest: ______
Notary Public Contract Description: REGION 1 TRACK EXCAVATORS

•		_		Notary Fublic				
Line No / Item ID Item Description	Quantity and Units		(4) BEAUREGARD EQUIPMENT, INC.		(5) CHADWICK BAROSS			
Alt Set / Alt Member			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 12	REGION 1 TRACK EXCA	AVATORS	Cat Alt Set:	Cat Alt Member:	LCC:			
0030 910.30	4.000	4.000	500.00000	2,000.00	600.00000	2,400.00		
SPECIAL WORK TRANS - DELIVERY EXCAVATOR 25,000 - 36,0 REG 1 (PER UNIT, PER YR FOR DELIVERY)	EA 00	EA						
0040 910.30	4.000	4.000	500.00000	2,000.00	600.00000	2,400.00		
SPECIAL WORK TRANS - EXCAVATOR 25,000 - 36,0 REG 1 (PER UNIT, PER YR FOR F	00	EA						
Section Total	s:	·	•	\$4,000.00	•	\$4,800.00	•	
Life Cycle Cost	s:							
Section Total with LCC	: :			\$4,000.00		\$4,800.00		
Co	entract Item Totals			\$104,800.00		\$109,200.00		
Co	ntract Time Totals							
Contract Life C	Cycle Costs Totals			\$0.00		\$0.00		
Con	tract Grand Totals			\$104,800.00		\$109,200.00		

() indicates item is bid as Lump Sum

Page 1 of 1

Vendor Ranking

Call Order: 8 Contract ID: 025744.01 Counties: SOUTHERN REGION

1

Letting Date: March 27, 2019 11:00 District(s): SOUTHERN REGION

Contract Time: 12/31/20 COMPLETION Min: Max:

DATE

Contract Description: REGION 1 TRACK EXCAVATORS Project(s):

Ran	k	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	004199	MILTON CAT	\$92,560.00	100.00%
2	004197	NORTHLAND JCB	\$93,200.00	100.69%
3	004059	EAGLE RENTAL	\$102,960.00	111.24%
4	002384	BEAUREGARD EQUIPMENT, INC.	\$104,800.00	113.22%
5	002386	CHADWICK BAROSS	\$109,200.00	117.98%
	002482	NORTRAX AKA FPC FINANCIAL	IRREGULAR	